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Directions (1–5) : In each of the following
questions, select the related letter/word/

number from the given alternatives.

funsZ'k (1&5) % fuEu iz'uksa esa ls izR;sd iz'u esa fn, x,
fodYiksa esa ls lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
1. OPMN : JKHI : : TURS : ?

(A) NMOP (B) OPMN
(C) POMN (D) OPNM

2. 3 : 4 : : 5 : ?
(A) 27 (B) 20
(C) 22 (D) 15

3. 36 : 16 : : 81 : ?
(A) 46 (B) 44
(C) 49 (D) 48

4. Muslims : Mosque : : Sikhs : ?

eqlyeku % efLtn % % fl[k % \
(A) Medina/enhuk
(B) Gurudwara/xq:}kjk
(C) Sun Temple/lw;Z eafnj
(D) Golden Temple/Lo.kZ eafnj

5. EFKL : CDGH : : ? : UVOP
(A) WXTS (B) WXST
(C) KLOP (D) XWTS

Directions (6–9) : Find the odd word/letter/

number from the given alternatives.

funsZ'k (6&9)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@
la[;k dks pqfu,A
6. (A) DEOP (B) QUVR

(C) LMYZ (D) JKRS
7. (A) 19 – 33 (B) 24 – 45

(C) 35 – 62 (D) 16 – 23

8. (A) Potato/vkyw (B) Ginger/vnjd
(C) Turmeric/gYnh (D) Tomato/VekVj

9. (A) EFGI (B) IJKO
(C) UVWZ (D) ABCE

10. Arrange the given words in alphabetical
order and choose the second word.

fn, x, 'kCnksa dks o.kkZuqØe esa yxkb, vkSj nwljs LFkku ij
vkus okys 'kCn dks pqfu,A
Exhilarate, Ephemeral, Entrench,
Enterprise, Enthusiasm
(A) Enthusiasm (B) Enterprise
(C) Ephemeral (D) Entrench

11. Arrange the following words as per order in
dictionary:

fuEu 'kCnksa dks 'kCndks'k ds Øekuqlkj O;ofLFkr djsaA
1. Cholesterol 2. Choreography
3. Chocolaty 4. Chrestomathy
(A) 3, 1, 2, 4 (B) 1, 3, 2, 4
(C) 3, 1, 4, 2 (D) 1, 2, 3, 4

12. Select the appropriate answer to complete
the series.

Jà[kyk dks iwjk djus ds fy, mi;qDr mÙkj dk p;u djsaA
w _ u w w _ _ w _ x u w _ x _ w

(A) x w u u x w (B) x x u w w u

(C) x x w w u u (D) x u w u w x
Directions (13-14) : In the following questions,
a series is given with one terms missing.
Choose the correct alternative from the given
ones that will complete the series:

funsZ'k (13-14) % fuEufyf[kr iz'uksa esa] ,d vuqØe fn;k x;k
gS ftlesa ,d in yqIr gSA fn, x, fodYiksa esa ls og lgh
fodYi pqfu, tks vuqØe dks iwjk djsaA
13. 4, 7, 26, 10, 13, 20, 16, ?, ?

(A) 19, 17 (B) 14, 17
(C) 19, 14 (D) 14, 4

14. 2, 3, 5, 7, ?
(A) 9 (B) 10
(C) 11 (D) 8

15. In a certain code, 'MEMORANDUM' is
written as 'ADEMMMNORU'. How can
'MENDELOEVIUM' be written?

,d fof'k"V dwV Hkk"kk esa] 'MEMORANDUM' dks
'ADEMMMNORU' ds :i esa fy[kk tkrk gSA rn~uqlkj
'MENDELOEVIUM' dks fdl izdkj fy[kk tk ldrk
gS\
(A)  DEEEILMMNOUV (B)EDEEILMNMOVU
(C)  EEEDILMNMVOU (D) DEEILMEMNUVO

16. Introducing Geeta, Sita said, "She is the only
daughter of my father's only daughter". How
is Sita related to Geeta?

xhrk dk ifjp; nsrs gq,] lhrk us dgk fd] ¶og esjs firk dh
bdykSrh iq=kh dh bdykSrh iq=kh gSA¸ lhrk dk xhrk ls D;k
lEcU/ gS\
(A) Niece/Hkrhth
(B) Cousin/ppsjh cgu
(C) Aunt/pkph
(D) None of these/buesa ls dksb ugha

17. From the given alternatives, select the
longest word (with maximum number of
letters) that can be made from the following
letters.

fn, x, fodYiksa esa ls] mls lcls yEcs 'kCn (ftlesa v{kjksa
dh la[;k vf/dre gks) dk p;u dhft, ftls fuEufyf[kr
v{kjksa ls cuk;k tk ldrk gSA
TENOHS

(A) HONEST (B) HONESTY

(C) SHORTEN (D) TENSE

Part-I : General Intelligence and Reasoning

Hkkx&I : lkekU; cqf¼erk ,oa rdZ'kfDr
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Directions (18-20): In the following questions,

select the missing number from the given

responses.

funsZ'k (18-20): fuEufyf[kr iz'uksa esa fn, x, fodYiksa esa ls
yqIr la[;k Kkr dhft,A

18. 40 41 ?

36 54 37

78 97 65

(A) 26

(B) 24

(C) 22

(D) 28

19. 10

3

26 50 82

5 7 ?

(A) 9 (B) 12

(C) 19 (D) 28

20.
5 8

16 10

6 ?9 ?

18 ?12 ?

(A)
7 10

25 30

(B)
7 10

20 14

(C)
6 4

16 30

(D)
6 5

20 32

21. Lata walks 7 km towards North, turns to her

left and walks 9 km, again she turns to her

left and walks 7 km. How far is she from the

starting point?

yrk 7 fdeh- mÙkj dh vksj pyrh gS] fiQj viuh ck;ha vksj
eqM+ tkrh gS vkSj 9 fdeh- pyrh gS] fiQj nqckjk og viuh
ck;ha vksj eqM+ tkrh gS vkSj 7 fdeh- pyrh gSA vkjafHkd fcUnq
ls og fdruh nwjh ij gS\
(A) 7 km/fdeh-
(B) 9 km/fdeh-
(C) 5 km/fdeh-
(D) 8 km/fdeh-

22. If '×' means '–', '÷' means '+', '+' means '×', '–'
means '÷', then what is the value of
200 × (180 – 90) ÷ (12 + 6)?

;fn '×' dk vFkZ '–' gS] '÷' dk vFkZ '+' gS] '+' dk vFkZ '×'

gS] '–' dk vFkZ '÷' gS] rks 200 × (180 – 90) ÷ (12 + 6)

dk eku D;k gS\
(A) 410 (B) 250
(C) 270 (D) 370

23. Which of the following diagrams indicates
the best relation between INSAT, EDUSAT,
ARYABHATTA and ISRO?

fuEu esa ls dkSu&lh vkd`fr bulsV] ,MqlsV] vk;ZHkV~V rFkk
bljks ds chp laca/ bafxr djrk gS\

(A) (B)

(C) (D)

24. Identify the figure that will complete the
pattern.
ml vkd`fr dks igpkus tks iSVuZ dks iwjk djsxhA

Question figure:/ iz'u vkÑfr %

Answer figures:/ mÙkj vkÑfr;k¡ %

(A) (B) (C) (D)

25. From the given answer figures, select the

one in which the question figure is embedded.

nh xbZ mÙkj vkÑfr;ksa esa ls] ml vkÑfr dks pqfu, ftlesa

iz'u vkÑfr vUrfuZfgr gSA
Question figure:/ iz'u vkÑfr %

Answer figures:/ mÙkj vkÑfr;k¡ %

(A) (B) (C) (D)
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26. Which among the following activities are
helpful in the conservation of the water?

ty ds laj{k.k esa fuEufyf[kr esa ls dkSu lgk;d gS\
1. Wastewater treatment/vif'k"V ty mipkj
2. Wasteland Development/catj Hkwfe fodkl
3. Watershed Protection/tyxzg.k laj{k.k
4. Rainwater Harvesting/o"kkZ ty lap;u
Choose the correct option from the codes
given below:

uhps fn, x;s ladsrks esa ls lgh fodYi pqus%
(A) Only 1, 2 & 3/dsoy 1, 2 vkSj 3
(B) Only 1, 2 & 4/dsoy 1, 2 vkSj 4
(C) Only 1, 3 & 4/dsoy 1, 3 vkSj 4
(D) 1, 2, 3 & 4/1, 2, 3 vkSj 4

27. Which of the following countries has been
hit by severe tropical Typhoon Nida?

fuEufyf[kr esa ls dkSu&lk ns'k xaHkhj m".kdfVca/h; VkbiQwu
fuMk ls izHkkfor gqvk gS\
(A) Japan/tkiku
(B) Chile/fpyh
(C) France/Úkal
(D) China/phu

28. Petermann Glacier is located in which
among the following?

isVsjeu Xysf'k;j fuEufyf[kr esa ls dgk¡ fLFkr gS\
(A) Greenland/xzhuySaM
(B) Antarctica/vaVkdZfVdk
(C) Europe/;wjksi
(D) Siberia/lkbcsfj;k

29. Ahmed Zewail, who died recently, was the
Nobel Laureate in which field?

vgen tsosy] ftudk gky gh esa fu/u gks x;k gS] mUgksaus
fdl {ks=k esa ukscsy iqjLdkj feyk Fkk\
(A) Chemistry/jlk;u foKku
(B) Physics/HkkSfrdh
(C) Medicine/fpfdRlk
(D) Peace/'kkafr

30. Which among the following lake is famous
for its produce of high quality salt in
Rajasthan?

fuEufyf[kr esa ls dkSu&lh >hy jktLFkku esa mPp xq.koÙkk
okys ued dk mRiknu ds fy, izfl¼ gS\
(A) Pachpadra Lake/ipinjk >hy
(B) Chilka Lake/fpYdk >hy
(C) Ramgarh Tal Lake/jkex<+ rky >hy
(D) Umiam Lake/mfea >hy

Part-II : General Awareness

Hkkx&II : lkekU; tkudkjh
31. Which physician was sent by Bimbisara to

treat Avanti King Pradyota?

fcfEclkj us fdl fpfdRld dks voafr oa'k izn~;ksr ds jktk

ds bykt ds fy, Hkstk Fkk\

(A) Jivaka/thod

(B) Udayin/mnkf;u

(C) Kalashoka/dkyk'kksd

(D) none of these/bueas ls dksbZ ugha
32. Bolometer is used to measure:

cksyksehVj dk iz;ksx fdls ekius ds fy, fd;k tkrk gS\

(A) Frequecny/vko`fÙk

(B) Temperature/rkieku

(C) Velocity/osx

(D) Wavelength/rjaxnSè;Z
33. Which of the following best represents the

hierarchy levels of biological classification?

fuEufyf[kr esa ls tSfod oxhZdj.k ds lcls vPNs Lrj dks

n'kkZrk gS\
(A) Phylum, kingdom, class, order, genus,

species, family/

tkfr] lkezkT;] Js.kh] Øe] oa'k] uLy] ifjokj
(B) Kingdom, phylum, class, order, family,

genus, species/

lkezkT;] tkfr] Js.kh] Øe] ifjokj] oa'k] uLy
(C) Kingdom, phylum, family, class, order,

genus, species/

lkezkT;] tkfr] ifjokj] Js.kh] Øe] oa'k] uLy
(D) Class, order, kingdom, phylum, family,

genus, species/

Js.kh] Øe] lkezkT;] tkfr] ifjokj] oa'k] uLy
34. When a body is taken from earth to moon-

tc fdlh oLrq dks iF̀oh ls pkan ij ys tk;k tk,] rks&
(A) mass changes but weight remains

same

nzO;eku cny tkrk gS ijUrq Hkkj mruk gh jgrk gS
(B) weight change but mass remains same

Hkkj cny tkrk gS ijUrq nzO;eku mruk gh jgrk gS
(C) both weight and mass change

Hkkj vkSj nzO;eku nksuksa cny tk,axs
(D) both weight and mass remain same

Hkkj vkSj nzO;eku nksuksa ,dleku jgrs gS
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35. Which union ministry has launched Twitter

Sewa for addressing the complaints of

common man in the telecom and postal

sectors?

fdl ea=kky; us nwjlapkj vkSj Mkd {ks=kksa esa vke vkneh dh

f'kdk;rksa ds lek/ku ds fy, fV~oVj lsok dk 'kqHkkjaHk fd;k
gS\
(A) Ministry of Personnel, Public

Grievances and Pensions/

d£ed] yksd f'kdk;r vkSj isa'ku ea=kky;
(B) Ministry of Communications/

lapkj ea=kky;
(C) Ministry of Human Resource

Development/

ekuo lalk/u fodkl ea=kky;
(D) Ministry of Science and Technology/

foKku vkSj izkS|ksfxdh ea=kky;
36. A motion moved by a member in a legislature

when it is desired to have a discussion on a

matter of urgent public importance is called?

fo/kue.My esa fdlh lnL; }kjk izLrqr izLrko dks tuegRo

dk vfoyEc ekeyk ekurs gq, tks fopkj&foe'kZ gksrk gS] mls

D;k dgrs gS\

(A) Adjournment motion/LFkxu izLrko

(B) No-confidence motion/vfo'okl izLrko
(C) Cut motion/dVkSrh izLrko

(D) None of these/buesa ls dksbZ ugha
37. Water is type of solution:

ikuh fdl izdkj dk foy;u gS\

(A) liquid in liquid/nzo esa nzo
(B) gas in gas/xSl esa xSl

(C) liquid in gas/nzO; esa xSl

(D) none of these/buesa ls dksbZ ugha
38. Mathura, the famous city was the capital of

which ancient Mahajanapada?

izfl¼ 'kgj eFkqjk fdl egktuin dh izkphu jkt/kuh Fkh\

(A) Panchal/ikapky

(B) Kasi/dklh

(C) Kuru/dq:
(D) Sursena/'kwjlsu

39. On which date, the International Migrants

Day is observed?

varjkZ"Vªh; izoklh; fnol dc euk;k tkrk gS\

(A) November 16th/16 uoEcj

(B) December 18th/18 fnlEcj

(C) December 24th/24 fnlEcj

(D) February 21st/21 iQjojh

40. No Government expenditure can be

incurred in India except with the sanction

of:

Hkkjr esa fdldh Lohd̀fr ds fcuk fdlh ljdkjh [kpZ dk
ogu ugha fd;k tk ldrk\
(A) The Parliament/laln
(B) The Prime minister/iz/kuea=kh
(C) The President/jk"Vªifr
(D) The Supreme court/mPpre U;k;ky;

41. The oldest eukaryotic organisms are

considered to be:-

lcls iqjkuk ;wdsfj;ksfVd tho ekuk tkrk gS&
(A) Giardia/fxfMZ;k
(B) archaea/vkn~; thok.kq dks
(C) fungi/dod dks
(D) animals/tkuojksa dks

42. Which one of the following does not deal with

export promotion?

fuEufyf[kr esa ls dkSu&lh laLFkk fu;kZr lao/Zu ls lacaf/r
ugha gS\
(A) Trade Development Authority/

O;kikj fodkl izkf/dj.k
(B) Minerals and Metals Trading

Corporation/

[kfut rFkk /krq O;kikj fuxe
(C) Cooperative Marketing Societies/

lgdkjh foi.ku lfefr;ka
(D) State Trading Corporation of India/

Hkkjrh; jkT; O;kikj fuxe
43. Consequent upon the recommendations of

the working group on Rural Bank, five rural

regional banks were initially set up in the

year-

xzkeh.k cSadksa ij dk;Zdkjh lewg dh fliQkfj'kksa ds iQyLo:i
ik¡p {ks=kh; xzkeh.k cSad dc LFkkfir fd, x, Fks\
(A) 1973 (B) 1974

(C) 1975 (D) 1976

44. Gandhi considered Khadi as a symbol of:

xka/hth [kknh dks fdldk izrhd ekurs Fks\
(A) Industrialisation/vkS|ksxhdj.k dk
(B) Economic independence/vk£Fkd Lora=krk dk
(C) Economic growth/vk£Fkd o`f¼ dk
(D) Moral purity/uSfrd ifo=krk dk

45. A person is hurt on kicking a stone due to:

iRFkj dks Bksdj ekjus ls O;fDr dks pksV yxus dk dkj.k gS&
(A) Inertia/tM+rk
(B) Velocity/laosx
(C) Reaction/izHkko
(D) Momentum/osx
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46. "Sand in water" is an example of:

¶ikuh esa jsr¸ ,d mnkgj.k gS&
(A) organic compound/tSfod ;kSfxd
(B) inorganic compound/vtSfod ;kSfxd
(C) homogeneous mixture/lekax feJ.k
(D) heterogeneous mixture/folekax feJ.k

47. MSI stands for-

MSI iznf'kZr djrk gS&
(A) Medium Scale Integrated Circuits

ehfM;e Ldsy bUVsxzsfVM l£dV
(B) Medium System Integrated Circuits

ehfM;e flLVe bUVsxzsfVM l£dV
(C) Medium Scale Intelligent Circuit

ehfM;e Ldsy bUVsfytsUV l£dV
(D) Medium System Intelligent Circuit

ehfM;e flLVe bUVsfytsUV l£dV
48. Kidney would have direct effect on which

one of the following:

o`Dd dk izR;{k izHkko 'kjhj ds fdl Hkkx ij iM+rk gS&
(A) blood pressure/jDr pki
(B) water excretion by a person/O;fDr }kjk

ty mRltZu
(C) salt level/yo.k ds Lrj
(D) all of the above/mijksDr lHkh

49. Chemically Ruby and Blue sapphire are:

ekf.kD; vkSj uhye ds jklk;fud :i gS&

(A) Silicon dioxide/flfydkWu MkbDlkbM

(B) Aluminium oxide/,Y;wfefu;e vkWDlkbM

(C) Lead tetraoxide/ysM VsVªkDlkbM

(D) Boron nitride/cksjksu ukbVªkbM
50. The term of office of the member of the UPSC

is:

la?k yksd lsok vk;ksx ds lnL;ksa ds in dk dk;Zdky gksrk

gS&
(A) 3 years or till they attain 58 years of

age/3 o"kZ ;k 58 o"kZ dh vk;q gksus rd
(B) 5 years or till they attain 60 years of

age/5 o"kZ ;k 60 o"kZ dh vk;q gksus rd
(C) 6 years or till they attain 65 years of

age/6 o"kZ ;k 65 o"kZ dh vk;q gksus rd
(D) 5 years or till they attain 62 years of

age/5 o"kZ ;k 62 o"kZ dh vk;q gksus rd
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51. A train travelling at a speed of 90 mph enters

a tunnel 
1

3
2

 miles long. The train is 
1

4
 mile

long. How long does it take for the train to

pass through the tunnel from the moment

the front enters to the moment the rear

emerges?

,d jsyxkM+h 90 ehy@?k.Vk dh pky ls 
1

3
2

 ehy yEcs ,d

lqjax esa izos'k djrh gSA jsyxkM+h 
1

4
 ehy yEch gSA jsyxkM+h

ds vxys Hkkx dks izos'k djds lqjax dks iwjk ikj djus esa

fdruk le; yxsxk\

(A) 2.5 min/feuV

(B) 3 min/feuV

(C) 3.2 min/feuV

(D) 3.5 min/feuV

52. An observer 8 m tall is 40 3  away from a

tower. The angle of elevation from his eye

to the top of the tower is 30°. The height of

the tower is:

8 eh- yEck ,d izs{kd ,d ehukj ls 40 3  eh- nwj gSA

ehukj ds 'kh"kZ dk mlds vka[kksa ij mUu;u dks.k 30° gSA

ehukj dh Å¡pkbZ gS%

(A) 48 m/eh- (B) 54 m/eh-

(C) 56 m/eh- (D) 32 m/eh-
53. An automobile financier claims to be lending

money at simple interest, but he includes

the interest every six months for calculating

the principal. If he is charging an interest

of 10%, the effective rate of interest

becomes:

,d vkWVkseksckby iQkbusalj dtZ dh jkf'k dks lk/kj.k C;kt

ij nsus dk nkok djrk gS] ysfdu og izR;sd N% eghus ij

ewy/u dks C;kt ls tksM+ nsrk gSA ;fn og 10% dk C;kt

ysrk gS] rks izHkkfor C;kt dh nj gks tkrh gS%
(A) 10%

(B) 10.25%

(C) 10.5%

(D) None of these/buesa ls dksbZ ugha

Part-III : Quantitative Aptitude

Hkkx&III : ek=kkRed vfHk{kerk
54. A shopkeeper sells one transistor for ` 840

at a gain of 20% and another for ` 960 at a

loss of 4%. His total gain or loss percent is:

,d nqdkunkj ,d VªkaftLVj dks 20% ds ykHk ij ` 840

esa rFkk nwljs dks 4% dh gkfu ij ̀  960 esa csprk gSA mldk
dqy ykHk ;k gkfu izfr'kr gS&

(A)
15

5 %
17

 loss/gkfu

(B)
15

5 %
17

 gain/ykHk

(C)
2

6 %
3

 gain/ykHk

(D) None of these/buesa ls dksbZ ugha
55. In an election between two candidates, one

got 55% of the total valid votes, 20% of the

votes were invalid. If the total number of

votes was 9000, the number of valid votes

that the other candidate got, was:

nks mEehnokjksa ds chp ,d pquko esa] igyk dqy oS/ erksa dk
55% izkIr djrk gS] 20% er voS/ FksA ;fn dqy erksa dh
la[;k 9000 FkhA rks nwljs mEehnokjksa ds }kjk izkIr oS/ er
Fkk%
(A) 3240 (B) 2700

(C) 3640 (D) 3100

56. If sin A + sin2 A = 1 and a cos12 A + b cos10 A

+ c cos8 A + d cos6 A – 1 = 0, then b + 
c

a
 + d = ?

;fn sin A + sin2 A = 1 rFkk a cos12 A + b cos10 A

+ c cos8 A + d cos6 A – 1 = 0 gS] rks b + 
c

a
 + d = ?

(A) 2 (B) 5

(C) 7 (D) 3

57. Ganpat Rao buys petrol at ` 7.50, ` 8 and

` 10 per litre for three successive years.

What approximately is the average cost per

litre of petrol, if he spends ̀  4800 each year?

xuir jko rhu yxkrkj o"kksZa ds fy, ` 7.50, ` 8 rFkk
` 10 izfr yhVj dh nj ls isVªksy [kjhnrk gSA isVªksy dk
yxHkx vkSlr ewY; D;k gksxk] ;fn og izfr o"kZ ` 4800

[kpZ djrk gS\
(A) ` 7.98 (B) ` 8.37

(C) ` 8.84 (D) ` 9.24
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58. Using the half angle formula find the value

of sin 75°.

v¼Zdks.k lw=k dk iz;ksx djds sin 75° dk eku Kkr djsaA

(A)
1

2 – 3
2

(B) ( )–1
2 3

2
+

(C)
1

2 3
2

+ (D)
–1

2 – 3
2

59. A hollow iron pipe is 21 cm long and its

external diameter is 8 cm. If the thickness

of the pipe is 1 cm and iron weighs 12 g/

cm3, then the weight of the pipe is:

,d [kks[kys yksgs dh ikbi 21 lseh- yEch gS rFkk bldh

ckg~; O;kl 8 lseh- gSA ;fn ikbi dh eksVkbZ 1 lseh- rFkk

yksgs dk otu 12 xzke@?ku lseh- gSS] rks ikbi dk otu gS&

(A) 5.544 kg/fdxzk-

(B) 3.696 kg/fdxzk-

(C) 6.824 kg/fdxzk-

(D) 36.9 kg/fdxzk-
60. If the circle with center O has area 9p sq.

units. What is the area of the equilateral

DABC?

;fn O dsUnz okys oÙ̀k dk {ks=kiQy 9p bdkbZ gSA leckgq

DABC dk {ks=kiQy D;k gS\

A

BC D

O

(A) 9 3  sq. units/oxZ bdkbZ

(B) 18 sq. units/oxZ bdkbZ

(C) 12 3  sq. units/oxZ bdkbZ

(D) 24 sq. units/oxZ bdkbZ
61. A cistern of capacity 8000 litres measures

externally 3.3 m by 2.6 m by 1.1 m and its

walls are 5 cm thick. The thickness of the

bottom is:

8000 yhVj {kerk okys ,d Vadh dk ckg~; eki 3.3 eh-
× 2.6 eh- × 1.1 eh- gS rFkk bldk nhokj 5 lseh- eksVk gSA
fupys ry dh eksVkbZ gS%
(A) 90 cm/lseh-
(B) 1 dm/Mseh-
(C) 9 cm/lseh-
(D) 1.1 dm/Mseh-

62. It is being given that (232 + 1) is completely

divisible by a whole number. Which of the

following numbers is completely divisible by

this number?

;g fn;k x;k gS fd (232 + 1) ,d iw.kZ la[;k ls iw.kZr%

foHkkftr gksrk gSA fuEu esa ls dkSu&lh la[;k] bl la[;k ls

iw.kZr foHkkftr gksxh\

(A) (216 + 1)

(B) (216 – 1)

(C) (7 × 223)

(D) (296 + 1)

63. A, B and C start at the same time in the

same direction to run around a circular

stadium. A completes a round of circular

stadium in 252 seconds, B in 308 seconds

and c in 198 seconds, all starting at the same

point. After what time will they be again at

the starting point?

A, B rFkk C ,d oÙ̀kkdkj LVsfM;e ds pkjksa vksj leku fn'kk

esa leku le; ij nkSM+uk izkjaHk djrs gSA A o`Ùkkdkj LVsfM;e

ds pkjksa vksj 252 lsd.M esa] B, 308 lsd.M esa rFkk C,

198 lsd.M esa leku fcUnq ls 'kq: djds iwjk djrk gSA

fdrus le; ds ckn os iqu% izkjafHkd fcUnq ij feysaxsa\

(A) 26 min and 18 sec/26 feuV vkSj 18 lsd.M

(B) 42 min and 36 sec/42 feuV vkSj 36 lsd.M

(C) 45 min/45 feuV

(D) 46 min and 12 sec/46 feuV vkSj 12 lsd.M

64. A boat running upstream takes 8 hours 48

minutes to cover a certain distance, while

it takes 4 hours to cover the same distance

running downstream. What is the ratio

between the speed of the boat and speed of

the water current respectively?

,d uko ,d fuf'pr nwjh dks /kjk ds foijhr iwjk djus esa

8 ?k.Vs 48 feuV ysrk gS] tcfd ;g leku nwjh dks /kjk ds

lkFk 4 ?k.Vs esa iwjk djrk gSA uko dh pky rFkk /kjk dh pky

Øe'k% D;k gS\

(A) 2 : 1

(B) 3 : 2

(C) 8 : 3

(D) Cannot be determined/Kkr ugha fd;k tk

ldrk
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65. A train can travel 50% faster than a car.
Both start from point A at the same time
and reach point B 60 kms away from A at
the same time. On the way, however, the
train lost about 12.5 minutes while stopping
at the stations. The speed of the car is:

,d jsyxkM+h ,d dkj dh rqyuk esa 50% rst ;k=kk dj
ldrk gSA nksuksa fcUnq A ls leku le; esa pyuk izkjaHk djrs
gS rFkk A ls 60 fdeh- nwj fcUnq B ij leku le; esa igq¡prs
gSaA bl ;k=kk esa] jsyxkM+h LVs'ku ij :dus ds nkSjku 12.5

feuV C;kIr dj nsrh gSA dkj dh pky gS&
(A) 100 km/h/fdeh-@?k.Vk
(B) 110 km/h/fdeh-@?k.Vk
(C) 120 km/h/fdeh-@?k.Vk
(D) 96 km/h/fdeh-@?k.Vk

66. A and B can do a piece of work in 30 days,
while B and C can do the same work in 24
days and C and A in 20 days. They all work
together for 10 days, then B and C left the
work. How many days more will A require to
finish the work?

A vkSj B ,d dk;Z dks 30 fnuksa esa dj ldrs gSa] tcfd
B vkSj C mlh dk;Z dks 24 fnuksa esa rFkk C vkSj A, 20

fnuksa esa iwjk dj ldrs gSaA os lHkh feydj 10 fnuksa rd lkFk
dke djrs gSa] rc B rFkk C dk;Z NksM+ nsrk gSA A dks dk;Z
iwjk djus ds fy, fdrus vf/d fnuksa dh vko';drk gksxh\
(A) 18 days/fnu (B) 24 days/fnu
(C) 30 days/fnu (D) 36 days/fnu

67. Simple interest on a certain sum of money
for 3 years at 8% per annum is half the
compound interest on ` 4000 for 2 years at
10% per annum. The sum placed on simple
interest is:

,d fuf'pr jkf'k ij 8% okf"kZd C;kt dh nj ls rhu o"kksZa
ds fy, lk/kj.k C;kt] ̀  4000 dh jkf'k ij 10% okf"kZd
nj ls nks o"kksZa ds fy, pØof̀¼ C;kt dk vk/k gSA lk/kj.k
C;kt ij nh xbZ jkf'k gS&
(A) ` 1550 (B) ` 1650
(C) ` 1750 (D) ` 2000

68. Seats for Mathematics, Physics and Biology
in a school are in the ratio 5 : 7 : 8. There is
a proposal to increase these seats by 40%,
50% and 75% respectively. What will be the
ratio of increased seats?

,d fo|ky; esa xf.kr] HkkSfrdh rFkk tho foKku ds fy, lhV
5 : 7 : 8 ds vuqikr esa gSA lhV dks Øe'k% 40%, 50%

rFkk 75% c<+kus dk izLrko j[kk x;kA c<+s gq, lhV dk
vuqikr D;k gksxk\
(A) 2 : 3 : 4
(B) 6 : 7 : 8
(C) 6 : 8 : 9

(D) None of these/buesa ls dksbZ ugha

69. A tank is filled by three pipes with uniform
flow. The first two pipes operating
simultaneously fill the tank in the same
time during which the tank is filled by the
third pipe alone. The second pipe fills the
tank 5 hours faster than the first pipe and
4 hours slower than the third pipe. The time
required by the first pipe is:

,d Vadh dks rhu ikbiksa ds }kjk leku nj ls Hkjk tkrk gSA
izFke nks ikbi leku le; esa Vadh dks ,d lkFk Hkjrs gS ftls
rhljs ikbi ds }kjk Vadh dks vdsys Hkjk tkrk gSA nwljh ikbi
igys ikbi ls 5 ?k.Vs rsth ls rFkk rhljs ikbi ls 4 ?k.Vs
/hes xfr ls Vadh dks Hkjrh gSA igys ikbi ds }kjk fy;k x;k
visf{kr le; gS&
(A) 6 hrs/?k.Vs (B) 10 hrs/?k.Vs
(C) 15 hrs/?k.Vs (D) 30 hrs/?k.Vs

70. By selling an article at 80% of its marked
price, a merchant makes a loss of 12%. What
% profit will the merchant make, if the
article is sold at 95% of its marked price?

,d oLrq dks blds vafdr ewY; ds 80% ij cspus ij ,d
,d foØsrk dks 12% dk gkfu gksrh gSA foØsrk fdruk
izfr'kr ykHk dek,xk] ;fn oLrq dks blds vafdr ewY; ds
95% ij cspk tk,\
(A) 5% profit/ykHk (B) 1% loss/gkfu
(C) 10% profit/ykHk (D) 4.5% profit/ykHk

71. The circle is inscribed in the isosceles
trapezium ABCD in which AB is parallel to
DC. If AB = 10 cm and DC = 30 cm, then find
the area of circle and area of trapezium.

,d o`Ùk lef}ckgq leyEc prqHkqZt ds vUnj gS tgka AB,

DC ds lekukarj gSA ;fn AB = 10 lseh- rFkk DC = 30

lseh- gS] rks o`Ùk rFkk leyEc prqHkqZt dk {ks=kiQy Kkr djsaA

(A) 62.5p cm2 and 100 5  cm2

(B) 31.25p cm2 and 100 5  cm2

(C) 125 p cm2 and 50 5  cm2

(D) None of these/ buesa ls dksbZ ugha
72. If a2 + a + 1 = 0, then find the value of a9 + 2?

;fn a2 + a + 1 = 0 gS] rks a9 + 2 dk eku gS&
(A) 2 (B) 3
(C) 1 (D) 0

73. If the lengths of the three sides of a triangle
are 6 cm, 8 cm,10 cm, then the length of
the median to its longest side is?

;fn ,d f=kHkqt ds rhuksa Hkqtkvksa dh yEckbZ 6 lseh-] 8 lseh-
rFkk 10 lseh- gS] rks blds lcls cM+s Hkqtk ij Mkys x,
ekfè;dk dh yEckbZ gS&
(A) 8 cm/lseh- (B) 6 cm/lseh-
(C) 5 cm/lseh- (D) 4.8 cm/lseh-
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Directions (74-75): Study the following table and

answer the questions given below.

funsZ'k (74-75): uhps nh xbZ rkfydk dk vè;;u djsa vkSj

fn, x, iz'uksa dk mÙkj nsaA
Data of different states regarding

population in the year 2016

o"kZ 2016 esa tula[;k ds vk/kj
ij fofHkUu jkT;ksa ds vkadM+s

U.P
15%

T.N
9%

A.P
25%

M.P
20%Delhi

8%

Goa
12%

Bihar
11%

Total population of the given States = 3276000

fn, x, jkT;ksa dh dqy tula[;k = 3276000

States/ 

jkT; 

Sex and Literacy wise Population Ratio/ 

fyax rFkk lk{kjrk ds vk/kj ij tula[;k dk vuqikr 

Sex/fyax Literacy/lk{kjrk 

M F Literate/lk{kj Illiterate/fuj{kj 

A.P/vka/z izns'k 5 3 2 7 

M.P/eè; izns'k 3 1 1 4 

Delhi/fnYyh 2 3 2 1 

Goa/xksok 3 5 3 2 

Bihar/fcgkj 3 4 4 1 

U.P. /mÙkj izns'k 3 2 7 2 

T.N. /rfeyukMq 3 4 9 4 

74. What will be the percentage of total number

of males in U.P., M.P. and Goa together to

the total population of all the given states?

U.P, M.P rFkk Goa esa iq:"kksa dh dqy la[;k] fn, x,

lHkh jkT;ksa ds dqy tula[;k dk fdruk izfr'kr gS\
(A) 25%

(B) 27.5%

(C) 28.5%

(D) 31.5%

75. If in the year 2016, there was an increase

of 10% in the population of U.P. and 12% in

the population of M.P. compared to the

previous year, then what was the ratio of

populations of U.P. and M.P. in 2015?

fiNys o"kZ dh rqyuk esa ;fn o"kZ 2016 esa] U.P. dh

tula[;k esa 10% dh o`f¼ rFkk M.P. dh tula[;k esa

12% dh o`f¼ gqbZ gks] rks 2015 esa U.P. rFkk M.P. dh

tula[;k dk vuikr D;k Fkk\
(A) 42 : 55

(B) 48 : 55

(C) 7 : 11

(D) 4 : 5
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Direction : In Question nos. 76 to 78 some part
of the sentences have errors and some are
correct. Find out which part of a sentence has
an error and blacken the oval [ ]
corresponding to the appropriate letter (A), (B),
(C). If a sentence is free from error, blacken the
oval corresponding to (D) in the Answer Sheet.

76. Had Mukesh work hard (A)/ he would have
got a (B)/ distinction in the exam. (C)/ No
error (D)

77. In the valley of Kadisha (A)/ where the
mighty river flow, (B)/ two little streams
met. (C)/ No error (D)

78. All query will (A)/ be answered (B)/ by the
chief instructor. (C)/ No error (D)

Directions : In Question nos. 79 to 81,
sentences given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative out of the four and indicate it by
blackening the appropriate oval [ ] in the
Answer Sheet.

79. I ______ you to be home by 8 o'clock.

(A) expect (B) accept

(C) aspect (D) except

80. Admission was ______ ladies.

(A) limited of (B) restricted by

(C) restricted to (D) limited by

81. You will come, _______?

(A) won't you (B) will you

(C) shouldn't you (D) aren't you

Directions : In question nos. 82 to 83, out  of
the four alternatives, choose the one which best

expresses the meaning of the given word.

82. SUPPLE

(A) Hard (B) Round

(C) Rigid (D) Flexible

83. SUBMISSIVE

(A) Obstinate (B) Unyielding

(C) Stubborn (D) Docile

Directions : In question nos. 84 to 85, choose

the word opposite in meaning to the given word.

84. JUXTAPOSITION

(A) Remoteness (B) Separation

(C) Termination (D) Proximity

85. Hasten

(A) Lack (B) Obstruct

(C) Instruct (D) Slow

Directions : In question nos. 86, four words are

given in each question, out of which only one

word is spelt correctly/wrongly out of them.
Find the word spelt correct/wrong and mark

your answer in the Answer Sheet.

86. (A) Maintainable (B) Ingradients

(C) Sustainable (D) Correspondence

Direction : In Question nos. 87 to 89, four
alternative are given for the Idiom/Phrase bold

in below sentences. Choose the alternative

which best expresses the meaning of the

Idiom/Phrase and mark it in the Answer Sheet.
87. These slogans are commonly voiced by

those who have some political axe to grind.

(A) Personal end to serve

(B) No sense

(C) No work to do
(D) No property

88. My colleague made his mark as a lawyer
at an early age.

(A) secured good marks

(B) distinguished himself

(C) created a vacancy
(D) desired to be

89. Global warming is a burning problem for
this summit.

(A) A problem that is obvious

(B) An urgent, important problem

(C) A dangerous problem

(D) A problem on fire

Direction: In Question nos. 90 to 92, a

sentence/ a part of the sentence is italicised

in bold. Below are given alternatives to the

italicised part at (A), (B), (C) which may improve
the sentence. Choose the correct alternative.

In case no improvement is needed your answer

is (D). Mark your answer in the Answer Sheet.

90. Your hair needs cutting badly.

(A) Your hair badly needs cutting.

(B) Your hair needs cutting real bad.

(C) Badly your hair needs cutting.

(D) No improvement

91. They spent many ideally hours just sitting

in the Sun.

(A) idly hours (B) idle hours

(C) ideally hour (D) No improvement

92. If only he can swim!

(A) will (B) could

(C) would (D) No improvement

Part - IV (English Language)
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Direction : In Question nos. 93 to 95, in the

following question, out of the four alternatives,

choose the one which can be substituted for

the given sentence.

93. Something impossible to believe

(A) edible (B) credible

(C) incredible (D) credulous

94. A larger supply than necessary

(A) freight (B) glut

(C) graffiti (D) fluvial

95. An elderly person who does not understand

or approve of modern ideas

(A) fuddy-duddy (B) hooligan

(C) holster (D) honorary

Direction (Q. No- 96 - 100) : In these question
you have two brief passages with six questions
following the passage. Read the passage
carefully and choose the best answer to each
question out of the four alternatives.

Passage – 1

Clouds are an essential part of the weather
conditions which exist around us. Warm air rises
upwards in the atmosphere carrying with it dust
and moisture from evaporated surface water. At
higher altitudes the air is cooler and the vapour
in the warm air reaches its 'dew point' where it
changes either to small particles of ice or into
water, thus forming clouds. Since cloud formation
takes place at different heights and
temperatures, clouds are of different types.

There are basically three main types of clouds.
Up to about 1.5 km from the ground, we generally
see the first type called the 'stratus' cloud; on
occasions it is the grey stratus clouds which bear
light rain. In colder areas the water in these
clouds freezes, thus resulting in snowfall. Slowly
rising warm air produces these clouds. Above
these and up to about 4.5 km is the 'cumulus'
clouds; the fluffy shapes are a result of quickly
rising warm air. Above the cumulus clouds, at
an altitude of about 14 km, float the 'cirrus' types
of clouds. Cirrus clouds are wispy clouds formed
at such a high altitude that they contain only
ice crystals.

Lying between these three main types of clouds
are other types like the 'stratocumulus',
'altocumulus', 'cirrocumulus', 'altostratus' and
'cumulonimbus' clouds.

96. What does quickly rising warm air produce?
(A) Altostratus clouds
(B) Cumulus clouds
(C) Altocumulus clouds
(D) Stratus clouds

97. What do cirrus clouds contain?
(A) Ice crystals
(B) Water
(C) Particles of ice
(D) Light rain

98. What are the three main types of clouds?
(A) Stratus, cumulus, cirrus
(B) Cirrus, altostratus, cirrocumulus
(C) Cumulus, cirrus, altocumulus
(D) Stratocumulus, stratus, cumulonimbus

99. Why are there different types of clouds?
(A) Because warm air rises upwards in the

atmosphere.
(B) Because the atmosphere carries with

it dust and moisture from evaporated
surface water.

(C) Because cloud formation takes place in
different heights and temperatures.

(D) Because they are the essential part of
the weather conditions.

100. How are stratus clouds produced?
(A) By quickly rising warm air
(B) By quickly rising cold air
(C) By slowly rising cold air
(D) By slowly rising warm air
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